
1
2

E
0

B

CO

C

0

E
2
C

C
CD

9
M

E
LL

-0

9
.r

%
(\1

-1

3

rN

LL

11

3
e
0

K;

n

E
CD

5;
<C

0

0

CU

LU

F
a
C

3

%
N

e

<C

13

.i
0-

fo

LL

1.

2.

3.

4.

5.

/NTERNAT/ONAL

WOOD TRADE

WOOD GLAZED OR OPAQUE

5/NGLE DOOR

GENERAL NOTES

INSWING/OUTSWING
"NON-IMPACT'

This product has been evaluated and is in compliance with the 5th Edition (2014}
Florida Building Code (FBC) structural requirements excluding the "High Velocity
Hunicane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product is
required to be protected with an impact resistant covering that complies with
Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

SHEET#

1

2

3

4

5

6

7

8

9

10

TABLE OF CONTENTS

DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Elevations

Horizontal & Vertical Cross Sections (2X Buck)
Horizontal & Vertical Cross Sections (1 X Buck)
Horizontal & Vertical Cross Sections (Direct to Masonry)
Vertical Cross Sections (Thresholds)
Buck & Frame Anchoring
Hardware Details

Bill of Materials & Components

X

CONFIGURATION

B
Z

d z

22
I
00 LU

B =

LOCK

HARDWARE

Multipoint*

8
Z

%

08
X-

Om

06 I
B LU

*See Sheet 3 for Hardware Specifications

III

43.5" MAX O.A.

FRAME WIDTH

DESIGN PRESSURE (PSF)
INSWING

POSITIVE

IiI

+75.0

X

NEGATIVE

-80.0

DESIGN PRESSURE (PSF)
OUTSWING

POSITIVE

+75.0

NEGATIVE

-75.0

* 849,>

...:%
8*11E *i# s

E 54 0*
3 013 4

'itilli'

bN

*PAP
,,lii,,

b
D

8
CE

O.

.Of

O 0*
& 0'9

B U,, .

E g=
3 -0 .

kg

*8
oO
=k
<C
Z

Z

:b

1% §1 *53 2
*47 0 25 2 &

 if) r
0 (0 00

D > Mi W
U) -r
Z O 00 0
Orr) Z
0 N ·:

5

62

b

LU

{f)

2 325

542&
m O. 0. It.

DATE: 8/17/16
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

SHEET 1 of 10

ZW
CD 0
0Z

ZE
0Z

'5

5%

CO

0
Z

Z

0

>
LJ

Qf

Ir

10

0

N

0

Z

Z

J

Ill

Z

0
0

0
Z

0

-1

m



.-4

r\1

P

3

(\1

It

%
3
11

F

m

0

y
a,

.Ch

E

51
<C

0
6-

0

CD

UJ

0

%
_1

<C

t;
J

ro

-0

0

LL

5

3
ro

C

0

16
E

C

a,

9
CK

-

f

r-

1

f

CD
LU

I

iII
Z

0
0
0

to
0,

6.25'

mi. I EXTERIOR Ab

INTERIOR

STILE STILE

/h HORIZONTAL CROSS SECTION

STILE

0
01
I

0
_3

Ci

2
CQ

f2

6.25'

1

2

2

2

/ rl

P1

EXTERIOR

INTERIOR

6.125"

/Th HORIZONTAL CROSS SECTION

41.75" MAX. DOOR

PANEL WIDTH

1

GLAZED

OR

OPAQUE

X

(f])
 WOOD DOOR PANELGlazed or Opaque

V

\ Er
MID STILE

1/2" GLASS BITE - IM--

DOW 995

\\AlEXTERIOR

-- 3/4" THICK GLASS
3/16" TEMPERED GLASS-5>C21 j - (BEVELED TO 1/8')

29.25" MAX. D.L.O.

WIDTH ---E AR SPACE
- 1 - j L)\ 1 \ 1/8' TEMPERED GLASS

INTERIOR 1//'//p- /
16 GA. X 7 BRAD NAILS SWIGGLE SPACER

(3' FROM EACH END & 6" O.C.)

36" HANDLE

HEIGHT

ALL WOOD DOOR COMPONENTS: SAPELE {G => 0.55}

ii

*1\ GLAZING DETAIL

1/7' INFIL BITE - --

1 55 L
 --3; 11'IN//S<» L

1 %#__1
:0 ------1

 PANEL INFIL DETAIL

TOP RAIL

INTERIOR

MID RAIL

9&
N -

f

801TOM RAIL

d

\

1.75' --

b

b

P

P

EXTERIOR

P1

-

/Th VERTICAL CROSS SECTION

iR

.6

r

4
00

*tili{P

S *22 5 8
-. OC·,
=0!91 9 * E

3 *'b.

£46 0.
B

E
E

§
0

..

2

i·

b
D

0

a_

La

E

%
Ew
-C 0
0*

U) 1'9

Li_

CZ
0
-0 .

*8
O0
A k
<C
Z

Z

4/4

4..WS in
Oi ls g

O: Z=u m
*05=2 &
.· 0 ·3 0 - -

400 i 0 0..0 4 .9 0, 19

D > Mi 
Z O £0 0
0 19 Z
0 N ·:

b
m

W

e X21

Q Ew

542&
m a. 0- LL

DATE: 8/10/16
SCALE: N.T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

SHEET 2 oF 10

5

62

0
Z

m

iII
Z

Z

0

5
Lij

to

0
01

0

Z

i
5
3

Ul

Z

0

0

8

Z

0

-1

J

m



rH

In

40

.r

(\1

-1

3
r.

0

01

E
LL

121

C

2
e
0

-0

E

:
<C

0

CJ

l.

61

e
0-

fo

LL

5
-8
e

-8
0

B

CO

C

0

%
E
2

C

(1)

9

1

4

1

5

1

6

V

1 11

1

I.

1

7

P

4

3

4

X

3

5

2

7

-L-------U

3

6

1

1

M

SEE HARDWARE CHART

(1)
2

5

2

6

MANUFACTURER

G-U

HARDWARE TABLE

MODEL

MULT/POINT LOCK (3-pt Tongue):

SECURY AUTOMATIC DOOR LOCK FOR

LEVER HANDLE (6-35856-01-R-88)
MORT/SE LOCK TRIM: EMTEK

.ililillil!"i,/'

....%4
SeE.. - u- .1
.- Z. 0 01 J
=Oil g *

..

-

-

S 4...
, .e

La

: 0 -•- . k bi
: 0000 .-
' 0,9 & 83,g

11 0 0 00

3>40)

Z O 00 0
019 Z
0 N ·:

9 525
mEw
542:
ma- 0- It

2 12

Oc W CA
8 X \3%

7%
A E w
a -co
0 0*

&0m

88
0

ZO
O0
i= k

Z
A- QS
0 LLI
D 1-
0Z
0-
05

0-

0

b
m

52

DATE: 8/10/16
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

SHEET 3 OF 10

9
0
A

[2]

0
Z

00

Z

0

lf)

3

Of

C

0
N

0

Z

i
5
3

[1]

Z

0

C]

Z

0
-1

J

m



Y
a)

-0

E

b

8

LE.1

f

B
lA

_J

i
&

<C

3

0

LL

rl

P
-0

lo

4

%
04

-1

LL

8

%
E

3
2
0

5
-8
e

C

0

16
E
2

E
CD

M

1-1/4' MIN.

EMB. (TYP.)

4

6

4

4

4

B

L

T

0.15' C-SINK

tr'(P)

1

EXTERIOR

94*41////i

//0 1 1

®

HORIZONTAL CROSS SECTION

( 4 / Shown w/ 2X Buck
- Inswing shown (Outswing similar)

E

B

V

V

V

V

V

D

1'7

V

V

7

V

L z a:
= r

\r

40INTERIOR   w 0 2,
tr) -
r•-

EXTERIOR d

/Th VERTICAL CROSS SECUON
( 4 ) Shown w/ 2X Buck
- Inswing shown {Outswing similar)

V
V

V

V

EXTERIOR 7

0.15" C-SINK

(TYP)

'4

4

4

4

4

4

INTERIOR

-»
1

.

/Th HORIZONTAL CROSS SECT/ON
( 4 / Shown w/ 2X Buck
\-/ Inswing shown (Outswing similar}

4

D

E

L

1-1/4" MIN.

EMB. (TYP.)

<05 * 429
.

8
- Z .-
= oim 9* W
30:.05 4

-0

0-

b

8
OC

a.

"

E

2

1/'.

41,4

0; -1 = in

...0000 --
:gb e F- O CD

4 5 If) -
02 5 ; 1 8

Ul .r
2030
OIl Z
0 N ·:

:6

E 0,
£0

0*
0 If)

·5 U. '

5 (2
E o £-
3 U

8 iW.
0 -JO.

E

0

OQI
00
k 0

-1

<0
Z0
00

Z

b

W

9

e X31

5 o.cm
m 0- 0- It

3%

DATE 8/17/16
SCALE: N.T. S.

DWG. By: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

SHEET 4 OF 10

0

m

LO

0

0
Z

JO

0=X

=0

ZLU
0(/)
N

O(/)

Z@
0

Z

0

Of

3

0:

a

0

N

0

Z

Z

J

Z

0

0

8

Z

9
J

m



ri

Lri

-0
CS

N

-1

LA

3
C)

C

e
0

-0

E

8
0
L

0

CD

LU

8'
6

%
C\1

<C

S

C.

CO

3
LL

2
F-

E
0

B

0

3=
E
S

C
CD

9

1-1/4" MIN.

EMB. (TYP.)

A

G

9.

9

V

9

EXTERIOR

14411111 i

{tillifi
 INTERIOR

®®

HORIZONTAL CROSS SECT/ON
( 5 ) Shown w/ 1 X sub-buck
- Inswing shown (Outswing similar)

3

5

E
4#

6 5

A
ir //

INTERIOR   EXTERIOR
VERT/CAL CROSS SECTION
Shown w/ 1 X sub-buck
Inswing shown (Outswing similar)

t>

Z al

r

A

EXTERIOR

7

C

77
g

V

G

9 7

9

7V

INTERIOR 1 T(il»
/Th HORIZONTAL CROSS SECT/ON
C 5 ) Shown w/ 1 X sub-buck
- Inswing shown (Outswing similar)

1-1/4' MIN.

EMB. (TYP.)

illilill,i"i,

fe>·.
E D %
Eoill 9 *
- .A. 0

SV::.0 # b

...........

4 PHY
./"litilitri

14 j
f
E

§
0

b
0

@
0-

Il,.

% 00 in
8 S. _c g

i  LL 
: 12es

illi'i

%
Ec
I 0

0*
(f) rr)

1.L

c#
0

i"j
-10-

0

0QI
0O
ko

0

<0
Z0
Q0

Z

0

62

b
m

0 C}

3 2%9
-1 0 (0 03

D> Mi 0)
0 -r •
Z O 00 0
0 19 z

0 N ·:

U x21
zo O

= Ci .2 
ma- a- c

DATE: 8/17/16
SCALE: N. T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

SHEET 5 OF 10

0

Z

CD

-JO

QSX

JO

ZLU
0(/)
1\1

0(/)

ZE @
0

Z

0

5
LLI

QS

lo

0

N

8

Z

0

-1

m

0

Z

Z

J

[1]

Z

0
0



r-1

ICS

%
01

ri

0

(.\1

%
61

%
F

e
0

(D

n

E

0

UJ

.a
C

24

%
01

ts

1
0-

(0

0

LL

5

e

0

.

C

0

E
S

C

0)

9
M

D

M

1-1/4' MIN.

EMB. (TYP.)

\

99

9

9

V

V

\ 

24

INTERIOR

6

v A
9\

- i- 9
7 ..

E- .7

I » *V
V VV .5.

7
5 7

V

V .

7 8.
7

. -17 1

(©.....-4,-sir

EXTERIOR 
INTERIOR

3

0
 EXTERIOR 24

/Th HORIZONTAL CROSS SECT/ON
\ 6 ) Shown Direct to Masonry
- Outswing only

VERT/CAL CROSS SECT/ON

Shown Direct to Masonry
Outswing only

Z 01

N

INTERIOR

EXTERIOR

0.15" C-SINK

ITYP)

7

®®

4

4

E

5 4

6

1 4

4

1. .

/«'\ HORIZONTAL CROSS SECT/ON
C 6 ) Shown Direct to Masonry
- Outswing only

D

*M

4

5

4

1-1/4' MIN.

EMB. (TYP.)

00 K NER' 4,

00 2T *El, S
= Xi,

S .Ck
, '07..

de

00

5
D

0

@

..

**

E@
- to

W El *33 R
 fiest 2 &
: ee' .-
0 .. 0 099 5 .go; 19

bo©E
0>40)
0 -r
z 000 6
Or') Z
0 N ·:

D x21

i ]8 * 1% a
f di g 42&

m 0. D. LL
B k .
5 0

E 8z
Mc W
o h \S-b

0

00

00
kO

-J

<CO
Z0
pO

Ii!
Z

DATE: 8/17/16
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

SHEET 6 OF 10

ac

0

12

b

0
Z

CO

cor
(/)Q=
0Z
0=0
0(f)
US

LU,_
>0

te
k (n
0Z

00
OLU
Z(/)

Z

0

>
LiJ

QC

3

es

'0

r·'

0

01

0

Z

J

U]

Z

0

0

0

Z

9
3

m



r.

r<

ID

4

%
0.1

-1

3

%

3
e
0

-0

E

5}
<C

0

LLI

g'

7

i
<C

t;
D

3
-8
0

LL

5
-8
e

1--

0

B
ro

C

0

%

E
S

C
{D

Z2

INTERIOR EXTERIOR

t,

t>

t>

D

D

1 VERTICAL CROSS SECT/ON

7 Inswing SIN

5 6

6

EXTERIOR

.
6

6
6

t

D

6

t>

6 N

INTERIOR

35

11

1 1

L-rFrl,=j41,Ff /

a* 6 A

.

6

.6

2 VERTICAL CROSS SECT/ON
7 Outswing sm

Z a_

3 25

k "2

3k....

2 2..9 g
= ZE.0 *
2521§ 4*
-U/,0 2

%«b.

>J u

bt

.5
g
E

§
0

E
a.

OQS
0O
k0

C3

-1

<0
Z0
PO

80
8E

Lu

l,,.

u. :..09 Ze
0 0: .i M

a° 5:#in 6.63
.:,000 i O CD

C> 6-&@:
D > Fi 0)
0 .r
Z O 00 0
0 19 Z
ON ·:

E

Ec
.C 0
0*
0 14)

EL

c4
0
-0 .

iW.
JO-

CE

0

b

[%

2 52j
2501®
J . Cld

592&
m C. a. LL

DATE: 8/17/16
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.

FL-20800.4

SHEET- 7 oF 10

LU

0

0
Z

m

COZ
0(/)
QCLU
000

0

QSZ
80
> i:r

8

Z

0

(er)

5
LJ

Qi

Of

0

N

0

Z

J

U]

Z

0

0

0

Z

9
J

m



r·4

06

%

@
3
:
01

C

9

0

0

E
CD

<C

0
L

0

cD

LU

F

2

:

e
a_

CO

3
LL

5
-8
e

ro

8
i
E
2

C
CD

9
ac

2X BUCK

MASONRY

(TYP.)

9

4

9

4'

.

D

HEAD & JAMBS

(TYP.)

I .

. 9..\9

- 4" (TYP.)

2X BUCK ANCHORING

NOTE:

1. ALL FRAME CORNERS SECURED WITH (3) #8 X 3' FH WOOD SCREWS @ HEAD & SILL.

1

-f
-

r

-

<C

60
-0

W

BUC

...-

4

/--VA

FRAME 0,4

9

9

.

3

L 2XBUCK

J 1 X BUCK

DIRECT TO
F

MASONRY

HEAD & JAMBS

(TYP.)

/ SILL

I. ... i
1 9

FRAME ANCHORING

6"

(TYP.)

72 t

40
3d

A

3 2/% %
i Oil 9 *
S ...3 2
3*'2..

4,4 .24;j:)

US

f
E

§

a.

.il

E

Ec
£0
0*

LL

CZ
0
v .
C Lit

11'.

Al..

le §} 1,3 m
 4'.'0 S J A

.....416: 12

kg

*8
0O
=k
<C
Z

0 lu
Di--

OE
@
a.

[g

mi <

LUI L.L

@ 41
-1 M
31 8

0 0)

3.2 0; 19
50@E
D > tr) 0)

58°°2
0 04 ·:

e X21
zo Omv
9 .CW
5 Q 2 &
m 0-0-lt-

DATE: 8/17/16
SCALE: N. T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

SHEET 8 OF 10

CD

0
32
0
Z
<C

0
Z

CO

Z

0

>
LLJ

3

0

0

N

0

0

Z

Z

3

Uj

Z

0
0

[9

Z

9

m



r{

al

ID

.r

%
.\1

3
rl

0

rv

rv

-1

LL

C)

0

E

8
0

0

(D

LU

cn

C

'Eh

.'1

&
<C

ts

-3
0-

.

LL

S
-8
e

E
0

B

.

5
16
E
2
C

C

(D

9

24

29

23 2X BUCK

G 1 X BUCK

AA DIRECT TO
MASONRY

24

4

30

HINGE DETAIL

LU

@2
U-

40
B 2

92

112

Mi

r

R
Mi

HINGE JAMB

fr)

g

R

SEE HINGE

DETAIL

(TYP.}

SEE TONGUE STRIKE

DETAIL

(TYP.)

SEE MULTIPOINT

LATCH & DEADBOLT

STRIKE DETAIL

-5.

,
)

1

1

STRIKE JAMB

Multipoint Lock

-

/3
C j
\ 9-

2X BUCK 2-5
1X BUCK (-(

M|ASCONTROY -  |2Q

TONGUE STRIKE DETAIL

2X BUCK 25

1 X BUCK G
DIRECT TO

MASONRY M

AL

1
MULT/POINT LATCH & DEADBOLT STRIKE DETAIL

MULTIPOINT LOCK HARDWARE DETAILS

.ililitil,li"

4#08 ... -
94...-

EVEW 9 *
S V'.: 0 2

:,E:..,lii{»

B

8
0

..

71

E

a.

I,,,

8 4...'PS m

6; 4': 0 3 J N
: 02 - 14 0,

Z

%8
O0
i= k
<C
Z

0 LU
D 1--
OZ
0-
05

0.

LJ

E

%
Ec,
.C 0
0*
U) 19

Lt_

c#
0
.0 .

iW
J 0-

DATE: 8/17/16
SCALE: N.T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

05

0

21
CO

8

8 2,2
D > to W

ggoo
ON ·:

2 52j
Amgow
§42&
m a. al k

5

SHEET 9 OF 10

LU

05

<C
I

LJ

4
0

0
Z

CIO

Z

0

>
LiJ

ac

lo

t-

0

N

0

0

Z

Z

3

m

Z

0

0

8

Z

9
.

[I]



rl

<CS

4

%

0
CN

01

3
E

01)

E
a,
,4

<C

0

LU

0

%
l.

1.-L

g
2

&
<C

tj
=3

€
C

0

LL

S

e

0

B

fo

g

E
2

C

a;

3

frEM #

A

B

C

D

E

G

j

L

M

1

7

8

20

21

23

24

25

27

28

29

30

35

40

DESCRIPTION

1 X BUCK (SG >= 0.42)
2X BUCK (SG >= 0.42)
1/4" MAX. SHIM SPACE

B/LL OF MATERIALS

1/4' X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW

MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

3/16" X 3-1/4" PFH ITW CONCRETE SCREW

1/4' X 3-3/4' PFH ELCO OR ITW CONCRETE SCREW

#10 X 2-1/2" PFH WOOD SCREW (1.15"MIN. EMBEDMENT)
3/16" X 2-1/4" PFH ITW CONCRETE SCREW

WOOD JAMB (SAPELE, G>= 0.55)
WEATHERSTRIP

SWEEP

MULTIPOINT TONGUE STRIKE PLATE

MULTIPOINT LATCH & DEADBOLT STRIKE PLATE

#12 X 2-1/2' PFH WOOD SCREW

#12 x 1 -1/4" PFH WOOD SCREW

#8 X 2-1/2' PFH WOOD SCREW

LATCH STRIKE PLATE

DEADBOLT STRIKE PLATE

4" X 4" HINGE

INSWING ADJUSTABLE THRESHOLD

OUTSWING BUMP THRESHOLD

DOOR PANEL

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortarjoinfs.

2. Concrete anchor /ocations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortarjoints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ANCHOR ANCHOR MIN. MIN. CLEARANCE MIN. CLEARANCE
TO MASONRY TO ADJACENT

TYPE SIZE EMBEDMENT EDGE ANCHOR

ITW

TAPCON

ELCO ®
ULTRACON

1/4"

1/4"

1.1/4"

1-1/4" 1"

r 4"

4"

ITW
® 3/16" 1-1/4" 3" 1-1/2"

TAPCON

WOOD SCRE\V INSTALLATON NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the sp#t#ng of wood.

MATERIAL

WOOD

WOOD

STEEL

CONCRETE

STEEL

STEEL

STEEL

STEEL

WOOD

FOAM

VINYL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

ALUM/WOOD

ALUM/WOOD

WOOD

. 1

1-3
r--cr1 1

//// T

 WOOD JAMB

n

5.75' · i

01 INSWING ADJUSTABLE THRESHOLD
C_)Imperial SY

lili 

5.75'

n

- OUTSWING BUMB THRESHOLD
(35)
\_/ Impenal

fr>
0!

sep
E *3%
= 0: O
-- 0 ,+ ..0

* 829 :".

3:13372: O
* 4· .- Co

Z 4-Jr
.

5 4...

3 y.... 1

\\Ir C
f
E

0

5
D

@
0-

.·

0%
b Ea)

2 "04

85

*8
00
=k

Z

Z

0000

6
CZ
0
-0 ,

iW
J 0-

. Lt- 0
0 - r
H O (3)

3209
j O © 00

D > "4 0
U) .r .
Z O 00 0
Orr) Z
0 N ·:

04

2 zd

Edon
D ..cm
ma- 0. LL

DATE: 8/17/16
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20800.4

SHEET 10 OF 10

0

62

b
m

0
Z

UU

01

01

9 (/)

KLU

<0
1 0-

LLO
00

(f)

Z

0

05

3

0:

lO

0

N

0

Z

J

U]

Z

0
0

Z

9

m


